RESOLUTION 2022-54 (08-16-22)

RESOLUTION BY THE PUBLIC WORKS/CAPITAL IMPROVEMENTS AND STORMWATER/WASTEWATER COMMITTEE APPROVING AND RATIFYING ADDITIONAL WORK FOR THE 2022 STREET PAVING PROGRAM

WHEREAS, on May 17, 2022, via Resolution 2022-37, the Village Board authorized entering into a contract with Asphalt Contractors, Inc. ("Contractor"), for the 2022 Street Paving Program in the Village; and

WHEREAS, Asphalt Contractors, Inc. is found to be the lowest responsible bidder.

WHEREAS, shortly after award of the contract, additional construction work was added to the Paving

WHEREAS, at this time the Village would like to proceed with said improvements; and

NOW THEREFORE, the Village Board of the Village of Sturtevant, Racine County, Wisconsin does hereby resolve:

- 1. That the awarding of a contract to Asphalt Contractors, Inc. of Union Grove, Wisconsin, in the amount of \$962,418.75, for paving, curb and gutter work, sewer utility work and restoration on 94th Street, Grayce Drive, Majestic Hills, Kennsington Square Road, Crown Pointe Circle and Park Court is hereby authorized and approved.
- 2. That the following projects for paving, curb and gutter work, sewer utility work and restoration are to be completed in 2022 using funds from the Capital Projects Fund 401 That the funds for said contract and said project shall be taken from Account 401-57331-821.
- 3. That the total costs for the project shall not exceed \$980,000.00 which includes engineering, legal and administration and contingencies. That the Village Administrator is authorized to execute change orders provided that the total cost of the project does not exceed \$980,000.00.

Adopted by the Village Board of the Village of Sturtevant, Racine County, Wisconsin, this 17th day of May 2022.

Village of Sturtevant

Michael Rosenbaum, President

Chery Zamecnik, MI



SEALING - PAVING - GRADING - STRIPING

1701 Main St. Union Grove, WI 53182 Phone: 262-878-4678 Fax: 262-878-5411 email: aci@asphaltinc.com

Date: July 21, 2022

Change Order #1

CID: 110681

Customer:

Village of Sturtevant Attn: Jason Feucht

2801 89th Street Sturtevant, WI 53177 Cell: 262-317-3356

jason.feucht@raSmith.com

Work Location:

2022 Paving Program Various streets Sturtevant, WI 53177

Scope of Work:

Section 7 - Post-Bid: Willow Road

Asphalt Contractors

				Total Cost:	\$16,764.00
120	Backplastering existing Storm Structures/Pipe interfaces	EA	4	\$1,020.00	\$4,080.00
119	Inlet Covers Type H (Neenah R-3067-L) - Includes removal of existing frame and grate	EA	4	\$1,080.00	\$4,320.00
118	Concrete Curb and Gutter 30-Inch Type D	LF	60	\$78.00	\$4,680.00
117	Tuckpointing Storm Structures	EA	4	\$360.00	\$1,440.00
116	Inlet Protection, Type C	EA	4	\$150.00	\$600.00
115	Pavement Sawcutting	LF	72	\$7.00	\$504.00
114	Removing Curb & Gutter	LF	60	\$19.00	\$1,140.00
ltem Code	Item Description	UofM	Quantity	Unit Price	Extension

Original Contract Total	\$962,418.75
Change Order Amount	\$ 16,764.00
Previous Change Order Amount	\$
New Contract Total	\$ 979,182.75

Prepared By: Tom Amon

Acceptance of Change Order:

Signature:			

Date:

Note: Terms of this change order are identical to the associated contractual language.

CHANGE ORDER NO. 1

Effective date: 7/24/22

Project:2022 Sturtevant Paving Program Owner: Villag			llage of Sturte	evant		Owner's Contract No.:						
Contra				Date	e of Contra	ct:						
Contractor: Asphalt Contractors, Inc.						Engineer's Project No.: 2211124						
	Contract Documents are modified	as follows u	pon executio	n of t	his C	hange	Order:					
Description: Removing Curb & Gutter Paveent Sawcutting Inlet Protection, Type C Tuckpointing Storm Structures Concrete Curb and Gutter 30-Inch Type D Inlet Covers Type H (Neenah R-3067-L) Backplastering existing Storm Structures/Pipe			60 72 4 4 60 4	LF LF EA LF EA EA	8	\$ \$ \$ \$ \$	19.00 7.00 150.00 360.00 78.00 1,080.00 1,020.00	# # # # # # # # # # # # # # # # # # #	\$ \$ \$ \$ \$ \$	1,140.00 504.00 600.00 1,440.00 4,680.00 4,320.00 4,080.00		
	n for Change Order:							Total =	\$	16,764.00		
Post bid	an addition to the project of heaved catch ba	isins.										
Attachi	nents: Asphalt Contractors Document											
CHANGE IN CONTRACT PRICE:				CHANGE IN CONTRACT TIMES:								
Origin		Original Contract Times: Substantial completion (days or date): n/a										
\$	962,418.75			Substantial completion (days or date): Final completion (days or date):						n/a		
W-	ase][Decrease] from previous appro se Orders No to No.	ved:	[Increase] No Substar	_to N	lo	_:	previous Cl (days):	nange Or		s: n/a		
\$	0.00	0.00 Final completion (days):							_	n/a		
Contract Price prior to this Change Order:			Substar	Contract Times prior to this Change Order: Substantial Completion (days or date): n/a								
\$	\$962,418.75		Final co	omple	tion (lays o	r date):	_		n/a		
Increase of this Change Order:				[Increase] Decrease] this Change Order: Substantial completion (days or date):								
\$	16,764.00		Final co	omple	tion (e	lays):				n/a		
Contract Price incorporating this Change Order:				Contract Times with all approved Change Orders: Substantial completion (days or date): n/a								
\$_	979,182.75	-	Final co	omple	tion (lays o	r date):			n/a		
RECC By:	OMMENDED: (Authorized Signature) ENGINEER	ACCEPTE By:(A	D: uthorized Signa OWNER	ture)		A((Author	rized Signa	M iture OR	:)		
Date:	7/24/2022	Date:				Da	ate: 7/2	25/2	2			

Date of Issuance: 7/24/22

EICDC C-941 Change Order
Prepared by the Engineers Joint Contract Documents Committee and endorsed by the Construction Specifications Institute.

